
 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

Website: www.casainc.com 
Contact Phone Number: 888-257-3857 
Service Contact : service@casainc.com 

Site Internet: www.casainc.com 
Numéro de Téléphone: 888-257-3857 
Email de Service Client : service@casainc.com 

http://www/
http://www/


 

  

          

 

1 1X 
 

2 1X 
 

3 1X 
 

          

   
M6*28 

  
M6*40 

  
D18 

 
4 4X 

 
5 2X 

 
6 4X 

 

          

    

D13 

   

M6 

   

 

7 4X 
 

8 2X 
 

9 1X 
 

 
According to the accessories list on the manual, please check whether the 
accessories in the carton are consistent with the manual. If you find any 
missing accessories or have any questions, please consult the after-sales 
customer service. 

 
Il faut vérifier que les accessoires dans le carton correspondent à  la liste 
d'accessoires du manuel et en cas d'absence d'accessoires ou de doute, consu 

ltez le service clientèle . 

  

 

1 



 

 

 
1 1X 

 

 

 

 

 

 

 

2 1X 

    M6*40 

5 2X 

 

 

 
 

D13 
7 4X 

 
 

 

8 2X 
M6 

 

 
9 1X 

First, find the required accessories according to the prompts in the left 
frame, and assemble the tripod according to the picture. 

Etape 1 : Reportez-vous aux instructions de la case de gauche pour trouver 

les accessoires nécessaires et assemblez le support de pieds comme indiqué . 
 

 

 

3 1X 

 

 

 

 

 

 
M6*28 

4 4X 

 
 

 
D18 

6 4X 

 

 
9 1X 

 

 

2 

Second, find the required accessories according to the prompts in the left 
frame, and assemble the back frame as shown in the figure. 

Etape 2 : Reportez-vous aux instructions de la case de gauche pour trouver les 
accessoires nécessaires et assemblez le support arriè re comme indiqué . 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

 

 

 

 

 

 

 

 

 

 

 

 

Third, adjust the foot pads as shown in the figure to ensure that the chair is 
stable. 

Etape 3 : Ajustez les coussins de pieds comme indiqué pour garantir la 
stabilité de la chaise. 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Website:  www. casainc. com 
Contact Phone Number: 888-257-3857 
Service Contact : service@casainc. com 

Site Internet: www. casainc. com 
Numéro de Téléphone: 888-257-3857 
Email de Service Client : service@casainc. com 

http://www/
http://www/


  

 
According to the 
accessories list 
on the manual, 
please check 
whether the 
accessories in 
the carton are 
consistent with 
the manual. If 
you find any 
missing 
accessories or 
have any 
questions, please 
consult the 
after-sales 
customer service. 

 
Il faut vérifier 
que les 

accessoi res dans 
le carto n 
correspondent à  
la liste 
d'ac cessoires du 
manu el et en cas 
d'ab sence 
d'accessoir es ou 
de doute, 
consultez le ser 
vice clientèle . 

 

 

 

 

 

 

 

 

 

 
 

 

 

     

 

  

 

 

 
 

  

1 
 

 


